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Note: This question paper consists of three parts: Part-A, Part-B and Part-C.

Part-A contains 10 compulsory questions, of very short answer type questions. Answer all questions.
Each question carries 01 mark. (10x1=10 marks)

Part-B contains 08 questions, of which students are supposed to answer 05 questions. Each question
carries 06 marks. (5x6=30 marks)

Part-C contains 05 questions, of which students are supposed to answer 03 questions. Each question

carries 10 marks. (10x03=30 marks)
Taxonoy co Marks Questions S.No.
level Mapping ‘
Part A
(1.
BTL-1 Col 1 " moment generating function SEX)and E(X?) | (D
¢ J.""J'{ -~ form
BTL-2 co2 1 Gi)
function é.f_ value g/( u( c
c
te p.d.f L /(x)={ Vx o ,0<x<4
0, otherwise
BTL-1 co2 1 ¢ UT Ujlzﬁ examples Uf typés {fr J correlation (i)
BTL-2 | CO2 L CE(X) /U then LetX~Gamma(a, 2) wherea, A > 0. Gv)
BTL-2 | CO3 I median and mode, mean &- & Normal distribution W
L 01:7 (relation) " wln(between) £
BTL-1 Cot 1 "L[/ define  Skewness and kurtosis (vi)
BTL-2 co1 . 1 The normal-equation for fitting of straight liney = @ +mx? (vii)
~(_)_’/(deﬁne :(Ey =—=A




State central limit theorem?

(viii)

BTL-1 | COl
BTL-3 CO4 c__J_Z: exponential distribution (/. /" Evaluate / mean (ix)
LAV 2
¢ Lo f(x)={ Ae = ,0<x <
e 0, otherwise
BTL-1 | CO3 ¢/ define J F-distribution 7L £ properties | (x)
Part B
BTL-2 | CO2 of (at least) ﬂa/ St/ 8?40';/ Tt b £ AT729 < (dice 6)2/ 7
L2 @®1 (5) &L [ices(3) | 2
BTL-3 | CO3 20t L F /A WS the probability i 272 uF GEK L | G.
gz 50 A3 C @ andvz 300 AF S B @ vz
d}U’(J/% _l_fprobability J =l U7t é_fr(game)/f;S o i
‘A’ will win 1 game games, ‘B’ will win 2 game , and ‘C’ will win 2 game?
BTL-3 CO4 J/U¥ AUt 4and 8,S.D. and mean § normal variate (f( (4.
O P(5 <x<10) GDP(x =5)
Given that '
P(-.75<z<0)=0.2734, P(0<z<05)=0.1916
and
P(0 <z<0.75) = 0.2734.
BTL-4 Cco2 -t SO joint probability density function, X and Y’ (.
: 3
fFay =] 27  o0<x<10<y<1
0, otherwise
OFY/X)  GWPEY>>/X=1/3) y/Js then
BTL-4 | CO2 J /( evaluate) YRegression é_ﬁ data Zé'f; (6.

(id)xony and()y on x Via,




BTL-4 Cco3 6 q/ Fité.& data Z’a_,: S y = ax + b, straight line (7.
X 1 2 3 4 6 8
y| 2.4 3|1 3.6 4 5 6
BTL-3 co3 6 coin b test the hypothesis 4216 and YUZ1 A 400/ £ LI (s.
<. unbiased 4 57LOS (Zg 05 = 1.96)
BTL-6 Cco4 6 random sample § ( pairs) U2 L (observations) =14=27 | (9.
-¢- s correlation cofficients ¥ 0.92 anormal population from
¢ Is it likely that variables in populations are uncorrelated
92_x7_ S (using) Je&1 ¥ (Testat 5% LOS and £g s = 1.708).
Part C
BTL-3 Cco2 10 -« discrete random variable {1 § probability distribution X (10.
X o1 |2 |3 |4 |5 |6 |7 |8
pCX=x) | K |3k |5k |7k |9k | 11k | 13k | 15k | 17k
I
(b) variance (b) mean (a) the value ofk
BTL-5 CO2 10 -< continuous random variable L1 ¢ probability density function, X
§o2 | (1L
e flx)= 3x%2: 0 < x <1 probability density function (p.d.f)
then, &6, P(X < @) = P(X > a) and P(X > b) = 0.05 % U*
.aandand b ([/(J’Ut"
BTL-3 CO4 10 —u_’/ﬁnd (f’ B1and 7 -u_’/ﬁnd ‘moment '/%%_LL data i.’:_,; Ci2.
X 1 2 3 4 5 6| 7 8| 9
y 1 6 13 25| 30 22 9 5 2
BTL-4 | CO3 10 ySFitd L dan Lz fy = a+ bx + cx? Panabola C13.
X 1 3 4 6 8 9 11 14
y 1 2| 4 4 5 7 8 9




BTL-6

CO4

10

-2 )b (results) & following ! £ E_i— A100 £4

No. of 0 1 2 3 4
heads
frequency 5 29 36 25 5

" Fita binomial distribution for the data and test the goodness of fit.? tnl S

(using) J&1 8(x2 o5 = 9.49 for4 degree of freedom).

(14.




